

$$\begin{aligned} \Delta^- &\equiv \square\square\square \text{ (DDD)} = x^3 \cdot t^2 / x^0 \cdot t^4 = x^3/t^2 \cdot x^0 \cdot t^2 / x^0 \cdot t^2 \\ \Sigma^- &\equiv \text{(DSD)} = x^4 \cdot t^2 / x^1 \cdot t^4 = x^3/t^2 \cdot x^1 \cdot t^2 / x^1 \cdot t^2 \\ \Xi^- &\equiv \text{(SDS)} = x^5 \cdot t^2 / x^2 \cdot t^4 = x^3/t^2 \cdot x^2 \cdot t^2 / x^2 \cdot t^2 \\ \Omega^- &\equiv \text{(SSS)} = x^6 \cdot t^2 / x^3 \cdot t^4 = x^3/t^2 \cdot x^3 \cdot t^2 / x^3 \cdot t^2 \end{aligned}$$

$$\begin{aligned} \Delta^0, n &\equiv \text{(UDD)} = x^3 \cdot t^1 / x^0 \cdot t^3 = x^3/t^2 \cdot x^0 \cdot t^1 / x^0 \cdot t^1 \\ \Sigma^0 &\equiv \text{(USD)} = x^4 \cdot t^1 / x^1 \cdot t^3 = x^3/t^2 \cdot x^1 \cdot t^1 / x^1 \cdot t^1 \\ \Sigma_c^0 &\equiv \text{(DCD)} = x^4 \cdot t^3 / x^1 \cdot t^5 = x^3/t^2 \cdot x^1 \cdot t^3 / x^1 \cdot t^3 \\ \Xi^0 &\equiv \text{(SUS)} = x^5 \cdot t^1 / x^2 \cdot t^3 = x^3/t^2 \cdot x^2 \cdot t^1 / x^2 \cdot t^1 \\ \Xi_c^0 &\equiv \text{(CDS)} = x^5 \cdot t^3 / x^2 \cdot t^5 = x^3/t^2 \cdot x^2 \cdot t^3 / x^2 \cdot t^3 \\ \Omega_c^0 &\equiv \square \text{ (CSS)} = x^6 \cdot t^3 / x^3 \cdot t^5 = x^3/t^2 \cdot x^3 \cdot t^3 / x^3 \cdot t^3 \end{aligned}$$

$$\begin{aligned} \Delta^+, p &\equiv \text{(UUD)} = x^3 \cdot t^0 / x^0 \cdot t^2 = x^3/t^2 \cdot x^0 \cdot t^0 / x^0 \cdot t^0 \\ \Sigma^+ &\equiv \text{(USU)} = x^4 \cdot t^0 / x^1 \cdot t^2 = x^3/t^2 \cdot x^1 \cdot t^0 / x^1 \cdot t^0 \\ \Sigma_c^+ &\equiv \text{(UCD)} = x^4 \cdot t^2 / x^1 \cdot t^4 = x^3/t^2 \cdot x^1 \cdot t^2 / x^1 \cdot t^2 \\ \Xi_c^+ &\equiv \text{(CUS)} = x^5 \cdot t^2 / x^2 \cdot t^4 = x^3/t^2 \cdot x^2 \cdot t^2 / x^2 \cdot t^2 \\ \Xi_{cc}^+ &\equiv \text{(CCD)} = x^5 \cdot t^4 / x^2 \cdot t^6 = x^3/t^2 \cdot x^2 \cdot t^4 / x^2 \cdot t^4 \\ \Omega_{cc}^+ &\equiv \text{(CCS)} = x^6 \cdot t^4 / x^3 \cdot t^6 = x^3/t^2 \cdot x^3 \cdot t^4 / x^3 \cdot t^4 \end{aligned}$$

$$\begin{aligned} \Delta^{++} &\equiv \text{(UUU)} = x^3 \cdot t^{-1} / x^0 \cdot t^1 = x^3/t^2 \cdot x^0 \cdot t^{-1} / x^0 \cdot t^{-1} \\ \Sigma_c^{++} &\equiv \text{(UCU)} = x^4 \cdot t^1 / x^1 \cdot t^3 = x^3/t^2 \cdot x^1 \cdot t^1 / x^1 \cdot t^1 \\ \Xi_{cc}^{++} &\equiv \text{(CCU)} = x^5 \cdot t^3 / x^2 \cdot t^5 = x^3/t^2 \cdot x^2 \cdot t^3 / x^2 \cdot t^3 \\ \Omega_{ccc}^{++} &\equiv \text{(CCC)} = x^6 \cdot t^5 / x^3 \cdot t^7 = x^3/t^2 \cdot x^3 \cdot t^5 / x^3 \cdot t^5 \end{aligned}$$